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QUESTION 1

What two data center challenges might a company face without VMware vSphere? (Choose two) 

A. Failing hardware components 

B. increased downtime 

C. increased CPU usage 

D. Certificate management 

Correct Answer: BC 

 

 

QUESTION 2

Which two storage virtualization technologies can be used to mitigate the effects of latency during peak load periods?
(Choose two.) 

A. Storage I/O Control 

B. VirtualSAN 

C. Virtual Volumes D. Storage Distributed Resource Scheduler 

Correct Answer: AD 

 

QUESTION 3

What is the function of standard switches? 

A. They switch traffic internally between virtual machines in the same port group 

B. They switch traffic between virtual machines in other port groups 

C. They prefer port mirroring for virtual machines in the same port group 

D. They perform port mirroring simultaneously for virtual machines in all port groups 

Correct Answer: A 

 

QUESTION 4

An organization wants to lower its formation technology costs associated with infrastructure management. The
organization has implement and NSX and now wants to consolidate its storage architecture and tools so that all
infrastructure resources can be managed fn 
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Which option allows the organization to achieve the desired goal? 

A. vSAN 

B. Storage DRS 

C. Virtual Volumes 

D. Storage Policies 

Correct Answer: A 

 

QUESTION 5

Which two VMware solutions help organizations plan for disaster recovery? (Choose two.) 

A. High Availability 

B. Fault Tolerance 

C. vSphere Replication 

D. Site Recovery Manager 

Correct Answer: CD 

 

QUESTION 6

Which two statements are true regarding disaster recovery when using data center virtualization. (Choose two.) 

A. vSphere includes a file-level backup and restore solution with application level support for Microsoft Exchange. 

B. vSphere can restart virtual machines on available resources if host hardware fails. 

C. vSphere includes an automated replication solution. 

D. vSphere includes a live migration solution that maintains virtual machine uptime in the event of unplanned downtime. 

Correct Answer: AD 

 

QUESTION 7

What does a virtual san do when virtual machines become noncompliant with storage policy? 

A. It takes corrective action to attempt to resolve the issue B .It deletes the virtual machine 

B. It create new policies 

C. It connects the virtual machine to the local storage 

Correct Answer: A 
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QUESTION 8

A company thinks that it would be ideal purchase the vRealize Suite to extend the boundaries of the existing data center
and manage the data center and cloud with a single interface. They ask an administrator to explain the features of
vRealize Suite. 

Which two statements should the administrator respond with? 

A. The vRealize Suite lets administrators separate out IT managed applications and application suites into the
administrator-defined application container 

B. The vRealize Suite enables IT to deliver a stateless desktop without any trade-off between user experience and
costs 

C. The vRealize Suite provides policy-based provisioning and role-based allocation of IT resources 

D. The vRealize Suite provides operational analytics that provide rapid discovery and root- cause analysis of IT issues 

Correct Answer: CD 

 

QUESTION 9

What are three valid vCenter inventory objects? (Choose three.) 

A. Distributed Resource Scheduler 

B. Datacenter 

C. Datastore 

D. Cluster 

E. High Availability 

Correct Answer: BCD 

 

QUESTION 10

What are two valid teaming and failover policies on a distributed port group ? 

A. Route based on the originating virtual port 

B. Route based on ether channel 

C. Route based on round robin 

D. Router based on ip hash 

Correct Answer: AD 

Explanation: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
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2Fcom.vmware.vsphere.networking.doc%2FGUID-796BBD4A-18E2- 4E19-889C-C529AF011323.html 

 

QUESTION 11

Which two are valid descriptions of how Storage DRS is used in a vSphere implementation? (Choose two.) 

A. It reclaims overprovisioned capacity to increase resource utilization. 

B. It keeps workloads on storage devices more evenly balanced 

C. it monitors the storage habits of virtual machines. 

D. it allows you to set shares on VMFS datastores to manage congestion 

Correct Answer: BC 

 

QUESTION 12

What is the default number of logical ports for a standard switch? 

A. 150 

B. 120 

C. 80 

D. 100 

Correct Answer: B 

 

QUESTION 13

Which vsphere feature , when combined with a supported third-party antivirus vendor, Enables an administrator to
offload antivirus processing from the guest to an appliance running on the esxi host ? 

A. Distributed switch 

B. vShield endpoint 

C. Storage id control 

D. Network io control 

Correct Answer: B 

 

QUESTION 14

Tags can be assigned to which two object types? (Choose two.) 
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A. Virtual machines 

B. Datastores 

C. Snapshots 

D. VMNICs 

Correct Answer: AB 

 

QUESTION 15

Which two statements are true about VMware vSphere? (Choose two.) 

A. It enables recovery from unplanned downtime. 

B. It enables desktop virtualization using Workstation. 

C. It enables administrators to upgrade operating systems. 

D. It enables planned live migration using long-distance vMotion. 

Correct Answer: AD 
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